
SOLVING QUADRATIC FUNCTIONS
BY COMPLETING THE SQUARE

Lesson 9.3



Words To complete the square for an expression of the form 𝑥2 + 𝑏𝑥, follow these steps.

Step 1: Find 
𝑏

2
.

Step 2: Square the result in Step 1,        .            

2
𝑏

2

Step 3: Add the result in Step 2 to 𝑥2 + 𝑏𝑥.            

Factor the resulting expression as the square of a binomial.
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Step 1: Add/subtract the constant to the right side of the equal sign.

Step 2: Take 
𝑏

2
, then square it.

Step 3: Add the result in Step 2 to both sides.

Step 4: Factor

Step 5: Take the Square root.



ExampleCompleting the Square

Step 1: Add/subtract the constant to the 

right side of the equal sign.

Step 2: Take 
𝑏

2
, then square it.

Step 3: Add the result in Step 2 to both 

sides.

Step 4: Factor.



x2 6x 5  0



x2 6x       5       Step 1:

Step 2:



(3)2  9

Step 3:



x2 6x 9  59

Step 4:



x  3 
2
 4

Step 5: Take the Square root. Step 5:   43
2

x



x  3  2Solve:



x  32    or    x  32



x  5    or    x 1



The solutions are 𝑥 = 1 + 2 ≈ 2.4 and 𝑥 = 1 − 2 ≈ −0.4.  Use the positive solution.

The stone lands in the water in about 2.4 seconds.
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